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SEAT No. 'SARDAR PATEL UNIVERSITY ~ = Tecfrimirest®
_ MA IV" Semester (CBCS) Examination
Cég, FAZS ] - Saturday, April 08, 2017 '
02:00 pm - 05:00 pm
PAO4CECO03 - QUANTITATIVE ECONOMICS

Note:  Figures to the right indicate maximum marks of the question. 'TOTAL MARKS: 70

ol oyuRll cliy eadele s Yol Mo @l eaf B, §EL 0L : 70

Q-1 (A) Explam the meaning of differentiation. Narrate various rules of differentiation with appropr:ate 12

®

)

(i)

Q-2 (A)

illustration,
[Qseotell wd uMnd, [asetoictt [a[au EEwm oa Gstéeu b uw’acn

Find out elasticity of demand for following functions. 06
olléott QR 2 Hidloll Heal wletel ﬂt‘ﬂ :
(1) Demand function p=100-x-x"atp="70 Wot [@ABd p=100-x-x> %A p=70
(?) Demand function x=50-Sp-ptatp=2 Hiot @B x=50-5p-p* i p=2
OR (ugdi)
“When MC' > 0 and MC = AC then a value of AC will be the minimum”- Explaln with the help of 09

differentiation,
“RUR MC'> 0 ¥el MC = AC 8% @R ACe Heal o3joteit U~ Rsctotel] Mgl dumal

If demand functions for two commedities ‘X’ and *Y” are 50 — 0.5Px and 76 ~ Py respectively, then 09
find out the profit maximizing level of output, price and maximum profit.

6L oefell 30wl Y Mot Mol QR g8 50 - 0.5Px u 76 — by B lalgl HeTiH a2l
Aq Gellote] 22, (Bud ual HgiH 48l A, .

What is meant by association of attributes? Explain with appropriate ‘ilfustrations the expected 09
frequency method and frequency ratio method fo study the association of attributes.
YRUeHs dolbioll wel o a? Jeieus doluatl weAY Htéa{l w’l@d utq[ﬂ«rﬂ élct Aol el
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(B)

Coefficient of correlatlon between X and Y for 20 observatlons is0 3 mean of X is 15 and that of Y 09
is 20; standard deviations for X and Y are 4 and § respecilvely But at the time of calculations one
pair of observations was wrongly taken as (17, 35 instead of (27 30). So, find the correct
coefficients of regression.
20 Aeldlsall HiSall X ual Y cRllall ustiolis 0.3; Xoil HERL5 15 Bl Yoll HERls 20 B XA Y
ol Y@ld Quesll uogs 4 ual 5 8. udd ol sl qua mc{cﬂsmﬂ A Qs Widl dAa
(27, 30) ol e (17, 35) Qe A &l A wu Ra{dwws}l e,

OR (uatcu)
Give the meanings of Regression, Regtession ‘line and coefficient of regressmn Discuss the 07

" characteristics of coefficient of regression, Narrate the importance of regression analysis.

(ii)

(iif)

Q-3 (A)

Ralciziely, Radrioty Yw ua Radaiviuuisal uai W), {Flaacmomcﬂ C—{i&{ﬂsdliﬂaﬂ A
53, fAacrioltt Raduie] Heel quld.

On the basis of following data find out regression questlons o ' 06
oflAef] 2fdell urell Ractaiold yHls2el D,
X 16 | 12 | 18 4 3 10 5 12
Y | 87 [ 8 | 8 | 68 | 78] 8 | 75| 8
For the following two cases find out whether the data are consistent or not; ' 05
ofldatt & 3 W WA ol B 3 R & AL

(1) (A)=100, (B}=150, (AB)=60, N =500

(2) () =400, (B) =150, (@B)=10, N =500

Write a detailed note on correlation, types of correlation and coefficient of cortelation. 9
ugdloll, ugdoluet Yot el Hsieluls W [Qate ot eul,
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(B) Narrate the merits and limitations of Rank method for calculating coefficient of correlation. Find out 08
rank coefficient of correlation for the following data. o
agrloltisell ol widell suis urlRoll ool wdl Halginl adld ool il Guadat
53l suis ugrloluis L -

X|15/20128 12|40 (602080
Y [4030{50|30(20|1030]60]
OR {(vadl) : :
() Explain the concept of probable error. Narrate the interpretation rule for coefficient of correlation on 07
the basis of probable error, '
Aol Elnell vatel dHonal. Aol Elnell R usloitise weluzaoll (Aale] adel 52,

(if) Using Karl Pearson’s method, find out coefficient of correlation for the following data and interpret 07
the result, - '
sicl Rudotod wrkiall Gua 580 oflAoll HBell S usticiuis D A YRR vdltieal
53,

Year (<t} 2008 | 2009 | 2010 | 2041 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
Tncome (WHels) | 249 | 251 | 248 | 252 | 258 | 269 | 271 | 272 | 280 | 275
Expenditare (W) | 237 | 238 | 236 | 240 | 245 | 255 | 254 | 252 | 258 | 251

(iii) Discuss the usage of correlation in economic analysis. 03
w185 ReAnind asaloitiotl GuANA 2l 52,

Q-4 (A) Define index number, Discuss the vatious problems in construction of Index number in detail. - 09

yusullsa catvallgd s, yusailisedl el usdl ysbelalll @ad ud s,

(B) Construct the consumer price index number from the following data using (1) the average 08
expenditure method and (2) the family budget method. - .
oflAell WB uzell autes cais (1) W2 vkl wek@ uA (2) H3QAs 2eyuntell el
Gulot sl st .

Commodity | Quantity consumed Price (Rs.)
{oie]) auRAdd el Bud @)
Base Year (ulltt? o) | Base Year (Wit ) | Current Year (i o)
A 6 Quintal ((sdlact) 5.75 6.00
! 6 Quintal {(5<i2¢1) 5.00 8.00
C 1 Quintal {(s82¢t) 6,00 9.00
D 6 Quintal ((<lec) 8.00 - 10.00
E 4 Kilogram ((5clait) 200 1.50
F 1 Quintal {5<led) | 20.00 15.00
_ , OR (wcll)
() Bxplain Laspeyres’, Paasche’s and Fisher’s methods for construction of index number in detail. 08
Al wal U Garel yusuisoll 2aell udoll Aol ot Wl . '
(i) Using Bowleys’s and Marshall-Edgeworth’s methods construct indices for the following data. 06
oGl wa Hgte-Reyardo]l Adlel Guelot s8R ol Doll MR 12 YusulEll 2uell 620
Commodity Quantity %2l Price (3. :
{dd) Base Year | Current Year | Base Year | Curent Year
uurlR ad) | (g o) | e ad) | (ug o)
A § 6 2 4
B 10 3 5 ]
C 14 10 4 - 5.
D 19 13 2 2
(iii) State the usage of Indices in Economics, o -0

usdatretil Yausuilsol Gulloll eudl.

e, e

2


http://www.gujaratstudy.com

	PA04CECO03-QUANTITATIVE ECONOMICS

